1. Consider the integral
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(a) Evaluate this integral.

(b) Differentiate the result and recover the integrand.
2. Find the power series approximation, up to order x20, for 
[image: image2.wmf].

1

3

4

x

+


3. Compute the limit as x goes to infinity of 
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4. In the bimolecular reaction 
[image: image4.wmf],
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( moles per liter of A and ( moles per liter of B are combined.  If x denotes the number of moles per liter that have reacted after time t, the rate of reaction is given by 
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 where k is velocity constant. For the case (=(:

(a) Show 
[image: image6.wmf].
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(b) Find 
[image: image7.wmf]).
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5. For the circuit shown,

(a) Find all the currents in terms of the emf and the resistances.

(b) Obtain numerical values for the currents with E=12V, R1=2.0 (, R2=4.0 (, R3=6.0 (, R4=2.0 (, R5=3.0 (. Assume the internal resistance of the battery is negligible.
6. Prove that 
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7. Determine 
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8. Solve the differential equation 
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 with y(0)=1, and y’(0)=0.

(a) Determine y(1), y(2), and y(3).

(b) Plot y(x) with x in the range 0 to 3.
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